



Republic of the Philippines PROCUREMENT DEPARTMENT

Quezon City Government



PO Number

Purchase Order Date:

MAY 3 1 2022

Procuring Unit

: DEPARTMENT OF ENGINEERING

Project Number

:ENGINEERING-22-VPA-

410

Company Name

: ALEXANDRITE BLUE, INC.

Mode of

:53.9

Address

North Fairview, Quezon City

Procurement

:22-A-116

:# 38-B Schilling Street, Phase 8 North Fairview, Brgy.

Resolution No.

Business Type

TIN Number

:214-809-960-000

: Corporation Registration #A200117388

Contact Number :09178515851

Sir/Madam:

Please furnish this office the following articles subject to the terms and conditions contained here:

Place of Delivery: Department of Engineering

Delivery Schedule: Thirty (30) Calendar Days

Payment Term:

Credit

Stock No.	ltem	Unit of Issue	QTY	Unit Cost	Amount
	Battery status display, Battery life display, Battery capacity display, Battery internal resistance display, USB communication, Printing function; Inclusions: 1 x UT675A battery tester			s	
15	Socket wrench - 3/4 inch drive, High-torque, 6-point sockets grip flat sides of fasteners, not corners, preventing round-off, 18 inch, 24-tooth, oval-head ratchet with quick-release drive tang locks onto sockets, 18 inch sliding T head breaker bar loosens frozen fasteners, 21,22,23,2426,27,28,29,30,31,32,34,36,38,41,46,50,55,60,65mm, L EXT. 200MM, T HANDLE ADAPTOR, T HANDLE 490MM, UNIVERSAL HANDLE 490MM, heavy duty, Hex type, 6 Points	set	2 1	8,450.00	16,900.od
16	Drain Pan - Material: High-density Polyethylene; Capacity: 7.5L; Color: black ******* Nothing Follows *******	pc °	3	986.00	2,958.00
NAMES OF THE PROPERTY OF THE P					
1000-1000 No. 1000 No					
The contract of the contract o					
-					20

Total Amount:

347,652.00

Total Amount In Words (Pesos):

Three Hundred Forty-Seven Thousand Six Hundred Fifty-Two Pesos Only

MA. JOSEFINA G. BELMONTE City Mayor

Funds Available:

RUBY G. MANANGU City Accountant



Signature Over Printed Name of Supplier / Date

OBR: 100 - 2022 - 05 - 06443

Approved Budget for the Contract:

377,784.00



Republic of the Philippines PROCUREMENT DEPARTMENT Quezon City Government

QUEZON CITY

PO Number

205078

Purchase Order Date:

Contact Number :09178515851

MAY 3 1 2022

Procuring Unit

: DEPARTMENT OF ENGINEERING

Project Number

:ENGINEERING-22-VPA-

410

Company Name

: ALEXANDRITE BLUE, INC.

Mode of Procurement :53.9

Address

Resolution No.

:22-A-116

:# 38-B Schilling Street, Phase 8 North Fairview, Brgy. North Fairview, Quezon City

TIN Number

:214-809-960-000

Business Type

: Corporation Registration #A200117388

Sir/Madam:

Please furnish this office the following articles subject to the terms and conditions contained here:

Place of Delivery: Department of Engineering

Delivery Schedule: Thirty (30) Calendar Days

Payment Term:

Stock	Item	Unit of	QTY	Unit Cost	Amount
No.		Issue			
1	Battery Clamp - positive (Pc	101	90.00	9,090.00
2	Battery Clamp - negative	Pc	101	90.00	9,090.00
3	Engine Coolant - Ready to use, Green color, 10 liters	Pc	44	2,300.00	101,200.00
4	Hydraulic Oil - #10, 18 Liters	pail	15	3,500.00	52,500.00
5	Hydraulic Oil - #68, 18 Liters	pail	15	3,800.00	57,000.00
6	Grease - Multipurpose/ 15 kg	pail	3	5,850.00	17,550.00
7	'Grease - High Temperature/ 15 kg	pail	3	6,760.00	20,280.00
8	Vulcanizing Cement - 235 cc/ 260 ml	Cans	20	900.00	18,000.00
9	Torque Wrench - Torque Wrench 18 inches, 1/2 drive with sockets (17 mm, 19 mm, 21 mm), chrome vanadium, heavy duty with blow mold case	Set	2	3,268.00	6,536.00
10	Spray Gun Paint - paint capacity: 400cc, diameter of nozzle: 1.3mm, operating pressure: 4598 psi	Pc	2	1,300.00	2,600.00
11	WD-40 - 191 ML 🖟	Pc	20	208.00	4,160.00
12	Tool Box - Heavy Duty, 16 inches x19 inches x22 inches, with 2 removable organizers, pad lock eye, tote tray, soft wide rubber coated handle	Рс	2	1,040.00	2,080.00
13	Oil Filter Wrench Socket Type - 19 pcs aluminum Cup Style Remover Tool, Stainless Steel, 901, 902, 903, 903-4, 903-6, 911, 904, 905, 906, 907, 908, 911-1, 914, 915, 27, 32, 36	Set	2	2,860.00	5,720.00
14	Automotive Battery Tester (digital) - 12V battery test: 7-16V DC; 12V/24V start-up system test: 7-30V DC; 12V/24V charging system test: 7-30V DC; Battery type: ordinary lead-acid battery, AGM flat battery, AGM spiral battery, gel battery, EFB battery; Battery capacity: 3~250Ah; Battery standard and scope: CCA: 40~2000; Brain Computer Index: 40~2000; CA: 40~2000; MCA: 40~2000; JIS: 26A17~245H52; DIN; 40~1400; IEC: 40~1400; EN: 40~2000; SAE: 40~2000; AH: 3~250AH; with Overvoltage protection, Reverse connection protection, Poor contact prompt,	Set	4	5,497.00	21,988.00

MA. JOSEFINA G. BELMONTE City Mayor

Signature Over Printed Name of Supplier / Date

Funds Available:

RUBY G. MANANGU City Accountant

OBR: 10-2021-05-06443

Approved Budget for the Contract:

377,784.00

TERMS AND CONDITIONS

- 1. ALL PRICES INDICATED HEREIN ARE VALID, BINDING AND EFFECTIVE AT LEAST WITHIN THIRTY (30) CALENDAR DAYS FROM DATE OF RECEIPT.
- 2. AWARDEE shall be responsible for the source(s) of its supplies/materials/equipment and shall make deliveries in accordance with the schedule, quality and specification of the award and purchase order. Failure by the AWARDEE to comply with the same shall be a ground for cancellation of the award and purchase order issued to that AWARDEE and for re-awarding the item(s) to the ALTERNATE AWARDEE.
- 3. AWARDEE shall pick up purchase order(s) issued in its favor within three (3) days after receipt of notice to that effect. A telephone call, fax transmission or electronic mail (e-mail) shall constitute an official notice to the AWARDEE. Thereafter, if the purchase order(s) remains unclaimed, the said purchase order(s) shall be sent by mailing or courier, messengerial service to the AWARDEE. To avoid delay in the delivery of the requesting end-user's requirement, all DEFAULTING AWARDEES shall be precluded from proposing or submitting a substitute sample.
- 4. Subject to the provisions of the preceding paragraph, where AWARDEE has accepted a purchase order but fails to deliver the required product(s) within the time called for in the same order, the delivery period may be extended a maximum of fifteen (15) calendar days under liquidated damages to make good the delivery. Thereafter, if AWARDEE has not completed the
- 5. delivery within the extended period, the subject purchase order shall be cancelled and the award for the undelivered balance, withdrawn from that AWARDEE. The BAC-Goods and Services shall then purchase the required item(s) from such other source(s) as it may determine, with the difference in price to be charged against the DEFAULTING AWARDEE. Refusal by the DEFAULTING AWARDEE to shoulder the price difference shall be ground for its disqualification from future bids of the same items, without prejudice to the imposition of other sanction as prescribed under RA 9184 and its RIRR.
- 6. When the supplier fails to satisfactorily deliver goods/services under the contract within the specified delivery schedule, inclusive of duly granted time extensions, if any, the supplier shall be liable for damages for the delay and shall pay the procuring entity liquidated damages, not by way of penalty, an amount equal to one-tenth (1/10) of one percent (1%) of the cost of the delayed goods/services scheduled for delivery for everyday of delay until such goods/services are finally delivered and accepted by the procuring entity concerned.
- 7. Rejected deliveries shall be construed as non-delivery of product(s)/item(s) so ordered and shall be subject to liquidated damages, subject to the terms and conditions prescribed under paragraph 4 hereof.
- 8. Supplier shall guarantee its deliveries to be free from defects. Any defective item(s)/product(s), therefore that maybe discovered by the *Quezon City Government* within three (3) months after acceptance of the same, shall be replaced by the supplier within seven (7) calendar days upon receipt of a written notice to that effect.
- 9. All duties, excise and other taxes and revenue charges, if any, shall be for the supplier's account.
- 10. As a pre-condition to payment, IMPORTANT DOCUMENTS specifically showing the condition and serial numbers of the imported equipment purchased should be submitted by the supplier to the *Quezon City Government*.
- 11. All transactions are subject to applicable withholding taxes in accordance with existing BIR rules and regulations.
- 12. Supplier shall furnish the End-user through the City General Services Department stockroom, the articles, described above;
- 13. The *Quezon City Government* reserves the right to accept or reject delivered articles if found not in conformity to the specifications, terms and conditions stipulated.
- 14. Provisions contained in Title VI, Book IV of the Civil Code of the Philippines on Sales are hereby incorporated and made as an Integral part hereof.

B. at part transcent				
15. This contract shall also serve as Notice to Proceed, to t	ake effect on	JUN 0 9	2022	and to expire on -
Losefina C- Atacador	President			6/9/2020
SIGNATURE OVER PRINTED NAME	IN THE CAPACITY	OF		DATE
Duly authorized to sign this Purchase Order for and on behalf of _	Mexandrife	Blue	TN(·	
SUBSCRIBED AND SWORN to before me this day of, me and were identified by me through competent evidence of ide 8-13-SC). Affiants exhibited to me his/her with No.	entity as defined in th	ne 2004 Ru	ules on Nota	rial Practice (A.M. No. 02-
Doc. No Page No Book No Series of				



TERMS AND CONDITIONS

- 1. ALL PRICES INDICATED HEREIN ARE VALID, BINDING AND EFFECTIVE AT LEAST WITHIN THIRTY (30) CALENDAR DAYS FROM DATE OF RECEIPT.
- 2. AWARDEE shall be responsible for the source(s) of its supplies/materials/equipment and shall make deliveries in accordance with the schedule, quality and specification of the award and purchase order. Failure by the AWARDEE to comply with the same shall be a ground for cancellation of the award and purchase order issued to that AWARDEE and for re-awarding the item(s) to the ALTERNATE AWARDEE.
- 3. AWARDEE shall pick up purchase order(s) issued in its favor within three (3) days after receipt of notice to that effect. A telephone call, fax transmission or electronic mail (e-mail) shall constitute an official notice to the AWARDEE. Thereafter, if the purchase order(s) remains unclaimed, the said purchase order(s) shall be sent by mailing or courier, messengerial service to the AWARDEE. To avoid delay in the delivery of the requesting end-user's requirement, all DEFAULTING AWARDEES shall be precluded from proposing or submitting a substitute sample.
- 4. Subject to the provisions of the preceding paragraph, where AWARDEE has accepted a purchase order but fails to deliver the required product(s) within the time called for in the same order, the delivery period may be extended a maximum of fifteen (15) calendar days under liquidated damages to make good the delivery. Thereafter, if AWARDEE has not completed the
- 5. delivery within the extended period, the subject purchase order shall be cancelled and the award for the undelivered balance, withdrawn from that AWARDEE. The BAC-Goods and Services shall then purchase the required item(s) from such other source(s) as it may determine, with the difference in price to be charged against the DEFAULTING AWARDEE. Refusal by the DEFAULTING AWARDEE to shoulder the price difference shall be ground for its disqualification from future bids of the same items, without prejudice to the imposition of other sanction as prescribed under RA 9184 and its RIRR.
- 6. When the supplier fails to satisfactorily deliver goods/services under the contract within the specified delivery schedule, inclusive of duly granted time extensions, if any, the supplier shall be liable for damages for the delay and shall pay the procuring entity liquidated damages, not by way of penalty, an amount equal to one-tenth (1/10) of one percent (1%) of the cost of the delayed goods/services scheduled for delivery for everyday of delay until such goods/services are finally delivered and accepted by the procuring entity concerned.
- 7. Rejected deliveries shall be construed as non-delivery of product(s)/item(s) so ordered and shall be subject to liquidated damages, subject to the terms and conditions prescribed under paragraph 4 hereof.
- 8. Supplier shall guarantee its deliveries to be free from defects. Any defective item(s)/product(s), therefore that maybe discovered by the Quezon City Government within three (3) months after acceptance of the same, shall be replaced by the supplier within seven (7) calendar days upon receipt of a written notice to that effect.
- 9. All duties, excise and other taxes and revenue charges, if any, shall be for the supplier's account.
- 10. As a pre-condition to payment, IMPORTANT DOCUMENTS specifically showing the condition and serial numbers of the imported equipment purchased should be submitted by the supplier to the Quezon City Government.
- 11. All transactions are subject to applicable withholding taxes in accordance with existing BIR rules and regulations.
- 12. Supplier shall furnish the End-user through the City General Services Department stockroom, the articles, described above;
- 13. The Quezon City Government reserves the right to accept or reject delivered articles if found not in conformity to the specifications, terms and conditions stipulated.
- 14. Provisions contained in Title VI, Book IV of the Civil Code of the Philippines on Sales are hereby incorporated and made as an

Integral part hereof.	ac of the filmppines of sales a		by meer per	area ana maac	. us un
15. This contract shall also serve as <i>Notice to Proceed,</i> to take effect on		9 2022	and to expire on -		
CONFORME:	2				
Josefinat C. Atalador	President		6/	9/2020	
SIGNATURE OVER PRINTED NAME	IN THE CAPACITY OF		1	DATE	
Duly authorized to sign this Purchase Order for and on behalf of	Alexandrife	Blue	Inc.	•	
	COMP	ANY NAI	ME		
me and were identified by me through competent evidence of 8-13-SC). Affiants exhibited to me his/her with No	identity as defined in the 2004	Rules or	n Notarial P	ractice (A.M. N	lo. 02-
Doc. No					
Page No					
Book No Series of					
Series of					

